Grade 8 Rates Ratios & Proportional Reasoning Unit Test
Read through the questions carefully before beginning, and give your best answer for each of the questions.  This test is out of 25 marks, and you will have approximately 45       minutes to complete it.  Record answers directly into the test booklet.

1. The ratio between the number of Anita's cousins and the number of Juan's cousins is 5:8. If Anita has 15 cousins, how many does Juan have?
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3. The cost of a luxury car compared to a mid-size family car is in the ratio 3:2. The cost of the mid-size family car to an economy car is 2:1. What is the ratio between the cost of a luxury car and the cost of an economy car?
[image: http://highered.mcgraw-hill.com/olcweb/styles/shared/spacer.gif][image: ] A)[image: http://highered.mcgraw-hill.com/olcweb/styles/shared/spacer.gif]2:1
		  B)[image: http://highered.mcgraw-hill.com/olcweb/styles/shared/spacer.gif]3:1[image: http://highered.mcgraw-hill.com/olcweb/styles/shared/spacer.gif][image: ] 
		  C)[image: http://highered.mcgraw-hill.com/olcweb/styles/shared/spacer.gif]5:1[image: http://highered.mcgraw-hill.com/olcweb/styles/shared/spacer.gif][image: ] 
		  D)[image: http://highered.mcgraw-hill.com/olcweb/styles/shared/spacer.gif]6:1

4. If the Banded Peak school bus travels 2531 km in 26 hours, what unit rate correctly identifies their speed?
A) 97.3km/hour
B) 2531km/26 hours
C) 97 km/ hour
D) 98 km/hour

5. [bookmark: _GoBack]Sally can pedal her bicycle 20 km in 2 h, while Antonio can pedal his bicycle 18 km in an hour and a half. If each enters a 24 km race, and pedals at these same rates, which will win the race, and by how much time?
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6. Miss Thompson was doing inventory of Banded Peak athletic equipment at the school.  She counts 30 basketballs, 25 volleyballs, and 15 dodgeballs.
A) What is the ratio of basketballs to volleyballs in lowest terms? (2 marks)








B) What s the ratio of basketballs to volleyballs to dogdgeballs? (2 marks)










C) If the student population increased, and there were now 90 basketballs, how many volleyballs and dodgeballs would there be?  Show you work, and answer in ratio form. Show in ratio form. (2 marks each)



















7. Sharon is trying to decide between two brands of paint for her new house.  She knows that Brand A costs $9.85 for 950ml, and that Brand B costs $7.90 for 750ml.  Calculate and find the better buy, show your work. (2 marks)







































8. An Olympic speed skater completed 3 different races in the 2010 Winter Olympics.  Her times were the following:
	Time (sec)
	Distance (m)

	70.32
	1000

	108.79
	1500

	229.02
	3000



A) What was the rate for the athletes 1000m race? (1 mark)








B) What was the speed, in meters per second, of her 1500m race and her 3000m race? (3 marks)











C) Which of the athletes 2 races (1500m or 3000m) was the fastest? (1 mark)














9. Solve the following proportion for the missing values A & B: (2 marks)


445 beats  =  178 beats = _______B______
5 min                  A                   1 min





	



































10. Mr. Churchill finds a sale on Coka-Cola while shopping at the grocery store.  He decides he should probably stock up.  The Coke is on sale for $2.45/case.  Upon measuring his car, Mr. Churchill realizes he only has room for 15 cases.  
A) How much would 15 cases of Coka-Cola cost? (3 marks)














B) If Mr. Churchill drinks 2.5 cases of Coka-Cola/month.  If Mr. Churchill  continues drinking Coka-Cola at the same rate, how long with the 15 cases last him? (3 marks)
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